SSC Previous Year Paper
GD 22 Nov 2021 Shift 2




Exam Date 22/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q1 39 fahed &1 Tad B 9 dR Ug J i 3 TpR J Feifera § S g1 U vgel v A eiftia €1
DEATH : IZZPL :: LITRE : ?

Ans 1.QDGNI

< 2. GNGNI

X 3.GNGVA

2 4. QDXVA

Question ID : 65497836104
Status : Answered
Chosen Option : 1

Q2 feg My ded 1 ey s Hiforg 3R 30 A BT T iy A 6 eAarEs g (2) &
AT TR 3T Hepat B

16 29519
914417
267?16

Ans  # 1.407
X 2.398
/< 3.406
X 4.395

Question ID : 65497836093
Status : Answered
Chosen Option : 1




Q3 3g 37 3w & T DT S DT T F AeT F Y F TI4SS HEI0T Far B

Fem=s, FOTe, g & &=
Ans

x 3.

slelele

Question ID : 65497836110

Status : Answered

Chosen Option : 1

Q.4 e fAfeTa e HTHT A, ‘he came back’ @Y ‘ni ji pa’ foi@T wmT &, ‘go back now’ & ‘pa ja ka’
foreaT simar 2 31 ‘stop it now’ BT ‘ka my uk’ foreT SiTaT €1 36} e WTeT A ‘go’ P14 forar
S

Ans X 1.ka

K 2.ni
o 3.ja
5 4.pa

Question ID : 65497836091

Status : Answered

Chosen Option : 3

Q.5 fdt e W §, WHALE &Y 25103147 & ®U A Feag fo-ar st &1 391 11T § SHARK &Y
P wopR I Feag far srgm?
Ans X 1.211031037
& 2.211032013
< 3.19811811

75 4.19812811

Question ID : 65497836097

Status : Answered

Chosen Option : 2




Q.6 A, B, C 3R D A &% aR g¥9 31k M, N, O 3R P A &l IR Ay ves et 31 F ufid: U
HiE & 91¢ U6 G359 & dpfeis FA A 3§ P, B IR A F Ao dA &1 A, N & S amre ¥ 3iR
D & | 3T 21 M, P & 9T 331 1
B 31k D & ¥l BiF 31 &2

Ans X 1.N
X 2P
3.0
X 4M

Question ID : 65497836086
Status : Answered
Chosen Option : 3

Q.7 &y faemeal ¥ A 39 WEAT BT gaq HIfGY A § 7 ojen ¥ ued fog (?) F &M W 3 bt
gl

15, 16, 20, 47, 303, ?
Ans X 1.1909
X 2.1936
o 3.3428
X 4.3473

Question ID : 65497836098
Status : Answered
Chosen Option : 3

Q.8 fimfeifad fadped ¥ A 39 faemeq o1 agq &, S 737 7Y 2/} & 39 FE ha PI g2rfar &, o
B0 N A 2reg 310 2regeprer W feas 2a #1

1. Marmatites
2. Martinec
3. Marijuana
4. Marehan

5. Marienbad

Ans X 1.4,53,21
X 24,5213
o 3.4,531,2
X 4.4,51,3,2

Question ID : 65497836100
Status : Answered
Chosen Option : 3




Q.9 iy My weMAY 3ik fiepuf &t vaFyde uS| 75 A g F FRI A P T gEm w &, v dtag
AT BY A 714 d2a) A =1 il 2t &), garge fob g 1 frepsf ¥ F i a1/ #F J fspd
HAY PT qIfehds B ¥ HTHOT a1 § / A &

BY:

FB fEaTél Fedia aaa §1

Wit fEarey, i €1

fp:

1. BYE ¥t T, Peaiel T8 Aera §1

2. B AN, PeaTd Aerd §1
3. Wit @, Feaid derd §)

Ans X 1. fTsB 1 31R 3 QT 3TEROT &R B
o 2. I fIsBY 2 3IR0T T B
< 3. Ppael =Py 1 THROT BT &
< 4. Pael [Py 3 ITHROT BT &

Question ID : 65497836092
Status : Answered
Chosen Option : 2

A0 =3 Rmer =1 o= owe & % ey whefee € (gEm o sEls Al B

¢

8

-

Ans

Question ID : 65497836090
Status : Answered
Chosen Option : 3

Q.11 IR 37eR-uYg fay Y &, o § A G 7pR & 99 § 31 v 379 sriwra 81 39 3T 318R-
HHE P T R
Ans X 1.EFHK
« 2. ABCG
X 3.QRTW

X 4. MNPS

Question ID : 65497836096
Status : Answered
Chosen Option : 2




Q12 Ry &1 ddy e A, GiF Fra@idE@y A
Ans X 1. fame

X 2. fAgemas

X 3. A

v ERC

Question ID : 65497836108
Status : Answered
Chosen Option : 4

Q.13 fafafaa e # dgfad a9 F fag & Q1 1iorda fagl S weR 9 21 afgg?
56 -39 x 4+ 12 + 33 = 36
Ans X 1.x =+
K2+, x
X3-
w4+ -

Question ID : 65497836088
Status : Answered
Chosen Option : 4

Q.14 & 7y fameal ¥ & 39 Y@ BT T B, i fFAfafad sfaar ¥ gedars g (?) & [ w3
TPl &1

3, 6,18, 90, 630, ?
Ans o 1.6930
< 2.6300
X 3.5670
X 4.5040

Question ID : 65497836102
Status : Answered
Chosen Option : 1




Q15 ador #r & 7 IR F EF 3R W T W, W Foavor F FfT v gl swfa s

0 2
3 5
2 6
Ans
L 2
X1 ]1& 2
(]
e LY
X2 &
£ Q
X 3. £
L
£ e
o 4.

Question ID : 65497836099
Status : Answered
Chosen Option : 4

Q.16 371eRY & 39 FATH BT T9 B, o 519 § 7€ sj@en F Raw Tl ¥ 7 I 7@ oy, @ @
kol
_NMN_M__N_MN_NN
Ans X 1. MMNNNM
X 2. NNMNMM
X 3. NNMMNM
& 4. MNNMNM

Question ID : 65497836101
Status : Answered
Chosen Option : 4

Q17 3ifira 3 BeT o a8 319 a1 & Sheita WIS 3 G I 61 Y A A fielm &l 31f¥id Bt gerrpra
o g8 oit?
Ans 71 e
X 2.3
X 3. 98
X 4 T g8

Question ID : 65497836106
Status : Answered
Chosen Option : 1




Q18 T=fafEm v Ar-Ams gor 9@ ¥ TR % e g 7o @ v Aee T g & e e agee
T ITFTFAT B2

|mawn—|
&

Ans X 1.5, 6
X2 4,3
v3 2 3
K49,.5

Question ID : 65497836089
Status : Answered
Chosen Option : 2

Q.19 gig aAfa 3R feenm H 3R e g 1 ufad ¥ I3 &1 dfa ¥ A R W g sike
TR 33 ¥ W Sl g€ b 1€ 3R w1 A o1 §1 A Sl s F ard 3R
TP ¥ do1 81 96 3w gIsar 3R Waw & 419 § do1 81 71 § & $l7 w1 Ao ey & weg o
do18?
Ans . # 1 wWeR
X 2.9
X 3. "9bfAd

X 4. g

Question ID : 65497836109
Status : Answered
Chosen Option : 1




Q.20 feraifert smpferdl & U TS % g W HiE F FH SN qF gU FES w wea f i iy o
2| Tg FES TWe W A RTEEm?

Ans TR
o 1.

x2

x 4.

Question ID : 65497836095

Status : Answered

Chosen Option : 1

g
7:36::5:7
Ans X 1.27
X235
o 3.24
754.30

Q.21 39 faped &1 T97 B S A FEaT § 391 aE F Haiftia § o gt ST vge Se § wdfta

Question ID : 65497836087

Status : Not Answered

Chosen Option : --

Q.22 When a number is subtracted from the square of 17, then the sum becomes 3 times
the smallest whole number. Find the number subtracted.

Ans o 1.289
75 2.268
< 3.287
X 4.276

Question ID : 65497836094

Status : Answered

Chosen Option : 1




Q.23 3t e |t A, ‘VOLUME’ Y ‘AUQARI’ & &Y ¥ forar sirar &1 36} wren 7, ‘DESIGN’ ®Y fe
%y ¥ forar srgm?

Ans X 1.ZXILPR
X 2.ZIXPLR
o 3. 1IXOLS
X 4.1JYLOS

Question ID : 65497836105
Status : Answered
Chosen Option : 4

Q.24 v o1v Rekedt & & 3@ HHS W oI B, S AR S@eT § weas e (7) & | W
3w &

OIOIGXa

x 1.

Ans

Question ID : 65497836103
Status : Answered
Chosen Option : 4

Q.25 39 f4ered @1 aa By foaesT AW ug F a8t Hay § S g U8 BT IEe e A B
BARK: FXWI :: STOP : ?
Ans X 1.WTQN
X 2. WWTR
« 3. WQTN
X 4. WTWR

Question ID : 65497836107
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness



Q1 TRIRA AL B W dmer &1 fonareq fasam ami
Ans X 1.1904

X 2.1903

& 3. 1905

7 4.1902

Question ID : 65497836129
Status : Answered
Chosen Option : 3

Q.2 In the symbol of the electric cell, the thicker, shorter line represents the:
Ans X 1.ring terminal

< 2. positive terminal
& 3. negative terminal

25 4. neutral terminal

Question ID : 65497836112
Status : Answered
Chosen Option : 3

Q.3 firs vaR Awgfen (gar ¥ Sum wR1E) & 51 7 IR A 9@ A A9 FEIE-30 1 I fopaa fhariier
?
Ans X 1.1000 km
< 2.3000 km
< 3.2000 km

o 4. 1500 km

Question ID : 65497836126
Status : Not Answered
Chosen Option : --

Q.4 gis U Pedia gatie B 2021 HB0T______ ¥ maford faar mar am
Ans X 1 7% el

X 2.7t

X 3.9

o 4. PIABTAT

Question ID : 65497836135
Status : Not Answered
Chosen Option : --

Q.5 2020 ¥ HRd fibdbe dbelet Al (BCCI) gRT fFAefafaa & & fig dudt &t S sfear &t
snfaeife fore wralsie Tfva fasar mar 2m?

Ans X" 111 Wickets (11 fase)
«” 2. Mobile Premier League (F1a18a WfAER T, MPL)
2 3. Dream 11 (§ goid)
X 4. BalleBaazi (ScwiaTsil)

Question ID : 65497836116
Status : Answered
Chosen Option : 3




Q.6 feoelt owd ¥ ERMA FAAfafEa ¥ I g YR &1 = e fobar sirar am?
Ans X 1. Jgqarst

75 2. AR

X 3. HETearEl

o 4. TS

Question ID : 65497836128
Status : Answered
Chosen Option : 4

Q.7 3uré YA R SHUH PHISF & T F 3c9d & BY ¥ HARIT T 16T aifvies e febam, fe
W Y oy A P w41 ST 22

Ans X 1. 29 R
X 2. 21 fEw
o 3. 25 feieR
X 415 ER

Question ID : 65497836120
Status : Answered
Chosen Option : 3

Q.8 IFI-AY-are a1 RTH RUdd (Queen’s Stepwell), T F ae W €6 1o Fawpt
(UNESCO) faea vRIeR e §1

Ans 1 TR
X 2. B
2 3. HEHS
X 4.Faw

Question ID : 65497836134
Status : Not Answered
Chosen Option : --

Q.9 fHudl srAgET aTel WL fHa 3mANT = a5 gorma i o {6 HfY wael F forg graw awef
e (MSP), 3eTed BI MTRd 319 anTd § &7 § B 50% 317 gH1 a1feg?

Ans X 1.7TA. qg}qq‘f
< 2. St aY. AT
o 3. TH.UH. WA

7 4. 3R T

Question ID : 65497836117
Status : Not Answered
Chosen Option : --

Q.10 et 2020 ¥ <4 H.3mE. (B.C.C.1.) & uTeit HHNR [RPR gRT {5d gwfa fasar mam a2
Ans X 1 3fgq omf
X 2. foRTe Prgett

o 3. ST gRTE
X 4. forR yaq

Question ID : 65497836122
Status : Not Answered
Chosen Option : --




Q.11 f& Yz R A, S f TP (UNESCO) F1 fad tRIeR o Wi 2, J gdfera 21
Ans X 1. gmrfeET

X 2.¥MRd

3. it

o 4. 3Efear

Question ID : 65497836115
Status : Answered
Chosen Option : 4

Q.12 <R Arerer & 3 et A drafRar wered ey $1 fAmfor swarar an?
Ans X 1. fasrdTe

X 2. faemr

7< 3. gefaHT

o 4. 9T

Question ID : 65497836125
Status : Not Answered
Chosen Option : --

Q.13 YRy fagls H Yw31a 10 7E, 1857 P 45 H g8, 31N I8 B9 T gan?
Ans X 1.13 7, 1858 Pl Heredl 7

& 2. 20 S, 1858 &1 TaTfciR |

< 3. 18 fid®R, 1859 &1 feeett 7

X 4. 15 374, 1860 P ST H

Question ID : 65497836118
Status : Not Answered
Chosen Option : --

Q.14 fafafEd ¥ ¥ P 7o a1e FT3eH - T RN 3016 3fEAT saRA W & dEd 82
Ans X 1. gReid s

< 2. T, TioTerRaTH

X 3. vqar. preit

o 4. T Tmaar

Question ID : 65497836114
Status : Not Answered
Chosen Option : --

Q.15 YRa & AfFuH & T8, 3T Peal & 15 wgufa & ura fpdt el aafar B wor & F9
B T 3 HIBY 37 Y 2AferT gnit

Ans # 1.72
X 2.7
X 3.73
X474

Question ID : 65497836130
Status : Not Answered
Chosen Option : --




Q.16 3regr® o $i gfa fa- gt 82
Ans & 1. 20 kHz & 31fo®
< 2. 15 kHz 3 31fes
3. 10 kHz 3 31few

X 4.5 kHz 1 31fe
Question ID : 65497836124
Status : Answered
Chosen Option : 1
Q.17 FdaR 2020 ¥, WRd 3R J Wgad B A BY (Rupay) BTE & TROT 2 BT R fma
Ans X 1. ®IMAR
o 2.CH
25 3.7
< 4. girareer

Question ID : 65497836127
Status : Answered
Chosen Option : 3

Q.18 fmfeifEa ¥ A Bl |1 FET WRa ¥ gell aR Taa Bu J fAfifa far mar o 31k srager 2020
¥ ToRTa Ve Biarssd (s Hffaew $fEar fafies grr aia fam war ar?

Ans X 1.3 Ik
o 2. IRE Hicra Tgee
7< 3. Bfeeram smfigy g

X 4. foue guRmiase

Question ID : 65497836133
Status : Not Answered
Chosen Option : --

Q.19 gdwwa sy ffefEa A § fa G (games/sports) & Heifdd &2
Ans g 1 dsficT

X 2. dwar

X 3. dietaid

X 4. areai

Question ID : 65497836123
Status : Not Answered
Chosen Option : --

Q.20 FdeR 2020 ¥, ATeberet A A T 2T fob fawita aw 2020-21 ¥ WRA $T WFHA e ITQ
(GDP) BT HETH gof B
Ans X 1.-6%
X 2.-5.4%
X 3.-5%
o 4. —6.4%

Question ID : 65497836119
Status : Not Answered
Chosen Option : --




Q.21 e Fet g (N ae W) FAfafEa ¥ J fea @ier b 1 3rg fadwar 82
Ans X 1. BfeiT AR

< 2. e
o 3. 3w
X 4. et fag
Question ID : 65497836111
Status : Answered
Chosen Option : 3
Q.22 25 fJdaR 2020 P, J "o 6, {6 3 A% I ATHE B B AEAH A Y A9 IEa e

BTE TR YA YT 5 B3, 5w afd et 20,000 a4 & @-3 HY 3rgafa gt
Ans X' 1 3773 3mE. L3S, (ICICI) §

X 2. fosrr d&

o 3. IS S THE AL (IDFC) v I

X 4. T uw . (HDFC) d%

Question ID : 65497836131
Status : Not Answered
Chosen Option : --

Q.23 fifafad ¥ A B a1 Geve a1 <fiTe w2rid TemR ¥ @ T8 &2
Ans X 1. s (3iefer)

7< 2. TP (SITAH)
o 3. R f& oY (amsiie)
< 4. oarg ()
Question ID : 65497836121
Status : Answered
Chosen Option : 3
Q.24 3yufera foor, 3mued fiig W de fRor 3ik wrafda fhwor @it 3afeera gt €1

Ans o # 1. 9HE GHAA H
X 2. faofa: faudia grde W
< 3. 3R B A faudtd Iadaa w
X 4. = gHae W)

Question ID : 65497836113
Status : Answered
Chosen Option : 1

Q25 yra X dfum e S gaEa__ Agud
Ans 7 1 GeTE 1946

X 2.3 1945

25 3. 7dR 1946

25 4. ST 1945

Question ID : 65497836132
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics



Q1 v B 5 kmth Ff I F T § T TE AT A F oG 6 kmh FT AT §, o 9F Fpe # 20

e wger g ST ¥ o g @ # o gl e
Ans X 1.15 km

<2 8 km

¢ 3 10 km

<412 km

Question ID : 65497836148
Status : Answered
Chosen Option : 3

Q.2 30 m =¥ AT 90 m &9 TR FOOER dEE F ORI AT GAEE e aen dew AT 9 ¥ iy dew
AT T FH HTEA 2800 m? §, A g AT Y g (m ) e @

Ans 5110
X220
X35
x4 15

Question ID : 65497836145
Status : Answered
Chosen Option : 1

Q.3 56 et @ 23,570 F F= W, 14 A Fr awe & = @l @ {1 v A7 #7 an aea feaer §2
Ans 1 FT5
X2 380
X3 765
« 4 85

Question ID : 65497836140
Status : Answered
Chosen Option : 4

Q4 Find the ratio of the diagonal of a square of side 15 em. to its side.

Ans X1-v’§:3
X22:3

X3 1:42
w4 4f2:1

Question ID : 65497836144
Status : Answered
Chosen Option : 4




Q5 AfradF? aqm#uﬁ?rﬁrwmm%mmm# AT & 8 B F I F T
%lA&ﬁTmeswmﬁﬁmﬁ%?rﬁwa:ﬁl‘?

Ans o ?%ﬁﬂ

Question ID : 65497836160
Status : Answered
Chosen Option : 1

Q.6 uws @mg F 45 @fE (Faw oW 3T Afe™) §1 gEw i Afeemt & dew o g 50 4 81 3
qeut &1 FEd a9 79.4 kg § HR Afgenst @ iwT ava 645 kg &, o wg F wh cofFaat @
Hraa a9 (kg #) foraa B0 (@vHET & TR TS IF FE)?

Ans X 1. 9.5
X2 735
3 728

x4 774

Question ID : 65497836137
Status : Answered
Chosen Option : 3

Q7 rRAffmm o R H A BN CF oy var BaSa Srar ¥ & A 3t B ¥ et &
a3 5§ @ B AR C ¥ fwwt av o 20 7 ¥ A A av fewwr T6600 ¥ A e eetay
& &) faraerr o2

Ans 1. 30600
< 2. 25200
< 3. 36600
< 4. 21000

Question ID : 65497836138
Status : Answered
Chosen Option : 1

Q.8 gy frer F1F # 3O & AT F W T T ¢, e wEw & A it oo St 5@ i w o
FT BRS¢ A T Hoher 5H FE H 30 oE A @ W wwar ¢ AR A dR A e 5w FE A
15 Rer & 90 &¢ wa € 3 77 06 3W F  Bhee B & 9 o wwar 87

Ans X 1. 45 frg
K2 42 &=
X3 58 faa
v 4 60 feea

Question ID : 65497836159
Status : Answered
Chosen Option : 4




s wmﬁwmaﬁ F T 2 T Tom FT feam|
MWﬁwmqﬁamﬁgﬁ

Ans X1 0.95%
v 2. 95%
X3 9.5%
x4 0.095%

Question ID : 65497836143
Status : Answered
Chosen Option : 1

Q.10 oF d9frar w12 e, 9 e, 8 fwe, 6 fimre, 3 fime 3t 10 e & s & T 5= &
T B F AW F 12 W F F H-Ty et aw a6

Ans X1 §
X2 4
3 2
X4 6

Question ID : 65497836136
Status : Answered
Chosen Option : 4

Q11 ve figrar & 750 F 10 ¥ a7 @ ToX ©lE 3 39 24 # 6 $r &7 ¥ a9 R 30F oy W oAk &+
gfeE fraar 27

Ans w1 20% Eifr
X2 15% =ImeT
X3 25% @i
X4 10% omeF

Question ID : 65497836154
Status : Answered
Chosen Option : 1

Q12 vx &7 Fedw doF FT HTAF 6830 cm® HR IHH FAE 20 cm E| FHA Toh TSI &G
(cm? ) AR (m = = 7
Ans 1. 1320
X 2. 660
x 31760
x4 880

Question ID : 65497836152
Status : Answered
Chosen Option : 1




Q13 o gEmER 32,000 3T FFw A UE avg W 20% i 15% & 7w ge & ¥ 5w g w1 e

A &

Ans 1. 31,436
X2 31,600
X 3. 31,400
v 4 ¥1,360

Question ID : 65497836146
Status : Answered
Chosen Option : 4

Q14 zfr O Twar F7 30% 3T TEA F 60% ¥ 15 FH &, I 37 TEIT A9 RS

Ans X140
2. 50
X 3.'85
x4 72

Question ID : 65497836158
Status : Answered
Chosen Option : 2

QA5 79,480 Fr wwwfr o X, Y iy 2 % @ 5@ won Renfem frr mman § & X R Y F amr @ s

5:6, X3 Z & smer o awgeT 4 7 1Y R Z & s F A A oA

Ans X 1. ¥1,200
X2 31,800
<3.31,440
v 4 31,320

Question ID : 65497836150
Status : Answered
Chosen Option : 4

Q.16 flr g F v 91 ¥ Hifrd FEw 350 ¥ gEER AN & A AT gE 10% ¥ & F fww g

Fr 71oTaT FfAT)

Ans X 1. 3324
<2 3325
« 3. 33156
< 4. 3308

Question ID : 65497836157
Status : Answered
Chosen Option : 3




QA7 ww gATfEr 9T U FT 2T T 3 IuF F AT 8% Tf¥w & ey 4 a5t F B 10% it §ov 7 2w
F a1 # 3T F T 12% afw &1 afy el safeg & 12 99 & 9¢ guRT I & w9
713795 foey § & 3o fraer v (3 ) = e G e

Ans X 1. 12275
X 212000
% 310000
v+ 11125

Question ID : 65497836139
Status : Answered
Chosen Option : 4

Q.18 75,000 & e=RIfer FROT T W 6 Ful # 77,550 & AT 1 TR w4 & F 3.5% Fr gfy @ =wr
¥ & AR fEaeh & S

Ans 1. 8,600
x2 38,200
x 3. 38,500
x4.78,000

Question ID : 65497836141
Status : Answered
Chosen Option : 1

A1 6 [Ax3{5X4+(50f4+4+2x4)}] F AT AT AT
Ans 7
o1 —
10
3
10
17
10
5
10

Question ID : 65497836153
Status : Answered
Chosen Option : 1

Q.20 7= foralr & &1 60 G F W W T ¥ IF 10 o F Far § R R, T e O I A
36 @ & 9@ ¢ A A AR O F Wy FA FT A T FAG F F @A FET?

A xn. 252 =
x2 202 &=

17
X 3. 212 ICGH

v 242 =
T

Question ID : 65497836155
Status : Answered
Chosen Ontion * 4




Q21 21 m 3 42 m Fr =TS AT @ WEFAT F GAT TS A gRS F FET FA & TedF RS B
Ans X142 m
X2 7 m
X3 1m
V421 m

Question ID : 65497836142
Status : Answered
Chosen Option : 4

Q.22 1Ina hostel, 40 students are there. If 5 new students join, then the expenses of the mess will increase by T48 per day
while the average expenditure per student will diminish by 2. What was the original expenditure of the mess?

Ans 1. 1,104
X2 1,020
x3 1,076
x4 1,100

Question ID : 65497836156
Status : Answered
Chosen Option : 1

Q.23 TEu= T12,500 W 22 a¥ & faw afdw 12% TRk @9 & W, @ 99 F, 7R @ afvs 5
# Tegfe @ B (Feeaw T )

Ans X 1. 35,062
v 2 T4,591
X5 T4,951
X4 35,026

Question ID : 65497836151
Status : Answered
Chosen Option : 2

Q.24 o =fFg ¥ 2400 & v A5 IR v FH T 3FE A F 12% F i 1 v Et F 10% Fr
gt o &, Torm® 3 A 4% F7 e gal AN W F 5o A Aifew) (weas Ui o wé
)

Ans 1. 31,527
X2 1,225
X3.31,150

X 431,375

Question ID : 65497836149
Status : Answered
Chosen Option : 1




Q.25 3

; 2 1.3 7 2.3 o1
sioh 7-120f22+20f J43(2-2+2072)

7 7 3

F BIAT FlT T gfuTH 9reg g

Ans s =2

* 2. .28

X3 —

x40

Question ID : 65497836147
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the most appropriate meaning of the given idiom.
Wee hours of the day
Ans X 1.Dusk
«" 2. Dawn
75 3. Noon
#< 4. Midnight

Question ID : 65497836169
Status : Answered
Chosen Option : 3

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

One who has unlimited power
Ans X 1. Omnivore
«" 2. Omnipotent
25 3. Omnipresent
75 4. Omniscient

Question ID : 65497836172
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to fill in the blank.

Hitopadesha tales are written in a reader-friendly style, which perhaps to their
success.

Ans X 1. provided

¥ 2. contributed

#< 3. supplied
#< 4. arranged

Question ID : 65497836166
Status : Answered
Chosen Option : 2




Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

| entered my room / and switch on the lights / but it was / still dark.
Ans X 1.still dark

75 2. butit was

«# 3. and switch on the lights

#< 4.1 entered my room

Question ID : 65497836177
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate meaning of the given idiom.
Chicken hearted

Ans  «* 1. Easily scared

75 2. Visibly pleased

25 3. Slightly risky

75 4. Readily available

Question ID : 65497836167
Status : Answered
Chosen Option : 1

Q.6 Select the correctly spelt word.
Ans X 1. Specefying

#< 2. Spacifying
«# 3. Specifying
75 4. Specifing

Question ID : 65497836162
Status : Answered
Chosen Option : 3

Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

That through which light cannot pass
Ans X 1.Cloudy

«" 2. Opaque
#< 3. Gloomy
#< 4. Lucid

Question ID : 65497836179
Status : Answered
Chosen Option : 2

Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Summary

« 2. Sumpteus
75 3. Suffering
75 4. Sundry

Question ID : 65497836173
Status : Answered
Chosen Option : 2




Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Please ensure / that you covering your face / with a mask / when you go out.

Ans  # 1. that you covering your face
2< 2. with a mask
#< 3. when you go out

#< 4. Please ensure

Question ID : 65497836170
Status : Answered
Chosen Option : 1

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He moved on the undergrowth / quickly and silently, / hiding himself / from the enemy.
Ans X 1. hiding himself

«" 2. He moved on the undergrowth
75 3. from the enemy
#< 4. quickly and silently

Question ID : 65497836164
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate ANTONYM of the given word.
Maintain
Ans X 1. Protect
#< 2. Preserve
" 3. Abandon
#< 4. Sustain

Question ID : 65497836171
Status : Answered
Chosen Option : 3

Q.12 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

One day as mine little sister said she wanted to become an actress, we were shocked.
Ans X 1.since mine
" 2. when my
75 3. No improvement required

25 4. thatmy

Question ID : 65497836180
Status : Answered
Chosen Option : 2




Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The environment is on threat hedgerows and woodlands are vanishing.
Ans X 1.in threat
75 2. No substitution required
" 3. under threat
#< 4. into threat

Question ID : 65497836175
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to fill in the blank.

Many students are by the life of great leaders.
Ans 1. inspired

#< 2.involved

2< 3. infected
7< 4. interested

Question ID : 65497836174
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.

REMEMBER
Ans X 1.Learn
o 2. Forget
#< 3. Retain
75 4. Memorise

Question ID : 65497836176
Status : Answered
Chosen Option : 2

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Belonging to the middle ages
Ans X 1. Modern

75 2. Primitive
75 3. Ancient
«" 4. Medieval

Question ID : 65497836168
Status : Answered
Chosen Option : 4




Q.17 Select the most appropriate SYNONYM of the given word.
Appeal

Ans 4 1.Charm

75 2. Challenge

7< 3. Bloom

< 4. Growth

Question ID : 65497836178
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

| recently visited the school when | studied in Class 10.

Ans X 1. No substitution required
75 2. whenever

«" 3. where

75 4. wherever

Question ID : 65497836161
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate synonym of the given word.
Destroy
Ans X 1. Construct
" 2. Demolish
#< 3. Detach
#< 4. Rehabilitate

Question ID : 65497836165
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate option to fill in the blank.
A soft breeze blows as the sun_______in the distant waters.
Ans X 1. ramifies
X 2. glazes
" 3. shimmers
#< 4. basks

Question ID : 65497836163
Status : Answered
Chosen Option : 3




Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
< 1.ignorance

< 2. arrogance
< 3. negligence

" 4. awareness

Question ID : 65497836182
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.
< 1. tolerate

5 2. depreciate

¥ 3. recognise
5 4. deny

Question ID : 65497836183
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans

«” 1. upgraded
5 2. demoted

< 3. downgraded
< 4. motivated

Question ID : 65497836184
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

X 1. her

" 2. themselves
X 3. herself
25 4. them

Question ID : 65497836185
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans

< 1. treasure
& 2. wealth
25 3. hardship
4. fortune

Question ID : 65497836186
Status : Answered
Chosen Option : 4

Section : Part D Hindi

QA1

Ans

feg g arerrier F forg ve 2reg i
Sita &l geBT

< 1. SHftfaem

X 2. e

o 3. forfier

7< 4. rfican

Question ID : 65497836189
Status : Not Answered
Chosen Option : --




Question ID : 65497836202
Status : Not Answered
Chosen Option : --

Q3 et adft arer org BT AT B
Ans X 1 wufza

o 2.9

X 3. #fea

X 4. wuda

Question ID : 65497836188
Status : Not Answered
Chosen Option : --

Q4 fio wom Y WA & forT TeRY 3UgT oRE BT 9 W1

TEAR BT W T § WA BT AR
Ans 1. e
X 2.am
WER:
X 4. g

Question ID : 65497836193
Status : Not Answered
Chosen Option : --

Q5 fmfafaa ¥ ¥ B wr wwmrell oY w1 gw Wit 78 82
Ans 1 fRemafq - feamex

X 2.7 - gurax

X 3.5 - T

X 4. offer - Toriter

Question ID : 65497836200
Status : Not Answered
Chosen Option : --

Q.6 fier zem B WA & forg wad swgee faeseT &1 aa &1
W eH YsMBABIUa B #)
Ans X 1. wg
X 2. 3namg

o 3. 3@
X 4.y

Question ID : 65497836201
Status : Not Answered
Chosen Option : --




Q.7 gy orz ®1 faeim g

3IHT

Ans X 1 xfime
X 2.9@R
W R

X 4. arfie

Question ID : 65497836197
Status : Not Answered
Chosen Option : --

Q8 frfafaa wea ¥, Ry g aw fawea ¥ }, 30 fawew &1 auw & ot gewr &1 31} axaa svar 81

BferR BT
Ans X 1. om B ARAT
X 2.3t T
o 3. TSR TR BT
X 4 fasrdt g

Question ID : 65497836198
Status : Not Answered
Chosen Option : --

Q.9 Sfanr ¥ W BT e HEMI

Yifea ez F e 3fera oz fAfaw)
Ans X 1 it et
X 2.75 91d db
X 3.
4. 3rehad

Question ID : 65497836205
Status : Not Answered
Chosen Option : --

Q.10 {2y 71y 2Rz HT wHFTT 2R TaTZT |

ag

Ans 1w
X 2.3
X 3. 3adAar
X 4. wriReh

Question ID : 65497836192
Status : Not Answered
Chosen Option : --




Q11 gy arerr 1 a ww A B o B R 21 Ak P IR A L, A B FR AV N
31 R (1)) TR A TR (2)\ & deA 31 )\ B R A E (4)

X 11

X 22

X34

@43

Ans

Question ID : 65497836191
Status : Not Answered
Chosen Option : --
Q12 foft vy foor ura Y gesT @ arer’ ARl & fAv v oreg gim-
Ans X 1.31gr
X 2. 21y
3. forfy
X 4 fochfay
Question ID : 65497836204
Status : Not Answered
Chosen Option : --
Q13 fierr werre B WA & forT Wady Iugae o ®T aT B
¥ &1 Bl g T Amm
Ans X 1. @reft
2. 3%
X 3.
X 4.3ge
Question ID : 65497836194
Status : Not Answered
Chosen Option : --
Q.14 Y adt arer 2Rz BT T B
Ans X 1 3ooe
X 2. 3rdigfe
o 3.3
X 4. g
Question ID : 65497836187
Status : Not Answered

Chosen Option :




Q.15 Ry 7wy arewy ¥ Ywifesa @ Y wfavenfia B & v Tad Juge fieer o1 oaT =3 9k &
wierenfia & Y saeawar 781 §, aY fiwer fwlt agema & smaeawar 78 § w1 oA W
& @Y vea H Tonimen wiga 5 W 31
Ans X 1o Wiged Y AT 2
o 2. TSnITeT Wiga fasar T 1
X 3. IomTeT Wiged fasar T 2
X 4. foseft geeiTa Y 3aeaesdr T B

Question ID : 65497836190
Status : Not Answered
Chosen Option : --

Q16 oY ¥ forg 379 @ @1 T areier & foe v erg Bym-
Ans X 1. 3argador

X 2. ameefare
X 3. 3rerETdt
o 4. ATt

Question ID : 65497836206
Status : Not Answered
Chosen Option : --

Q17 R g are @1 4 W A A ol A IR 21 AR P IR 1 8, A PR W

BIAYR ¥ TG AT I AT B TH gE B
Ans X 1 e @ aw
X 2ot
X 3.5 g8 &
o 4. 35F ATrE B

Question ID : 65497836199
Status : Not Answered
Chosen Option : --

Q.18 Ry vy are ¥ Wwifea @ ®Y wfawenfua s & 6w va swge fAee &1 aa7 &3 gk @
wierenfia B33 Y saeawar 781 &, aY Riwew fwlt agera B smaeawar 7E1 & &1 o B
T O AT fier |

Ans X' 1. ot SeeiTa B TFEAT AE B

o 2. 3191 97 fiem v
X 3. y=gare & ufd 3t o i
X 4. 3mqaT Ju=raTE 9= fHe |

Question ID : 65497836196
Status : Not Answered
Chosen Option : --




Q19 Frfafaa wea ¥, Ry o an fawe ¥ F, 3w fawew &1 997 X i ger #1 372 arw s g
3ire fEamn
Ans X 1. ger 3T
X 2. R BT
X 3. fag@ g
o 4. T B BT

Question ID : 65497836195
Status : Not Answered
Chosen Option : --

Q.20 gy w1 faei ereg BrT-
Ans X 1. gifésa

X 2. ¥gfad

o 3. fiqa

X 4 faf@a

Question ID : 65497836203
Status : Not Answered
Chosen Option : --

Comprehension:

st (1) AoaTTad! gfd #1 a8 30 UROTdT srafa Tt & | ot (2) @rea TEl
3Tt 39H BT 3BT (3) T T M UROTEAf 36T &0 B1 Sl § 31 TRaT Pt &1
e (4) BY Y THIS & TTHA T8 ATl 3qHT B a1edt (5) _ UROThal R 81

feard 2am
A7 weAY & 3R IWa iRl & AR W Sl
SubQuestion No : 21
Q.21 wrarier 3 feer zerm (1) & ferg waifire 3w ez grm-
Ans x 173
2. 3d
X 3. 3Rs
X 4. sgavoig

Question ID : 65497836208
Status : Not Answered
Chosen Option : --




Comprehension:

$sf (1) wioeimadt 9fd 21 98 3o uRorsat sefa @t Samift (2) _ dreie 8
3Tt | 3HB BT 3BT (3) T YT Y UROTGT 36 g0 &1 i F 3fties W1 et 21
gt () BUA AT & AT TEL ATl IHBT BIE aedt (5) _ UROTHd ! W g
s 2am

i1 weal & 3av Iwad Maier & AR W Sl
SubQuestion No : 22
Q.22 wrerier 3 frere et (2) 3 fove waffies Tugar erg 8-
Ans 1 Wz
X 2. mA
X 3.5
X 4R

Question ID : 65497836209
Status : Not Answered
Chosen Option : --

Comprehension:

gwaf (1) wouTadt gfd 81 98 379 URvTGat srafa @it & ame ot (2) @A T8l
3Tl 36 B 31 BTG (3) A 91 MY UROTBAf 3BT &H 1 ATTHT A 3rfdies W BT B
T (4) B Y HTST & TTHA T&1 3Tl IGHBT BIS et (5) _ UROTHal W &l

fearé 2am
3wl & 3R IWaw Meier & MR W &S
SubQuestion No : 23
Q.23 rerier ¥ e zer (3) ¥ forg waffie sugew ez grm-
Ans X 1 3=
X 2. 3o
X 3.9
4. g

Question ID : 65497836210
Status : Not Answered
Chosen Option : --

Comprehension:

=t (1) wouTiadt gfd 81 a8 3799 YRt refa @it & et (2) @rea TEl
3Telt 1 36 BT 3 BTG (3) T 9T Y UROTAf 3BT &H 1 ATTHT A 3rfdies W BT 71
gt (4) BY Y FHIS P TTHA T8 ATl 39HT B a1edt (5) _ UROThal R T8t

fearg 2
371 weAT & 3R Iwaw TEier S AR W &gl
SubQuestion No : 24
Q-24 rerier 3 feam Term (4) ¥ oy waifie Juge erg grm-
Ans X 1 uder
X 2.ww
3. 98
X 4. 3t

Question ID : 65497836211
Status : Not Answered

Chosen Option : --




Comprehension:

g=af (1) AooTrad! gt €1 a8 379 URvTesarl sreifd Wt & ar WY (2) BTAP Tal
T 36 BY 37TFE BT G (3) T YT WY URvTehal 3ThT & hHY 7T J 37feed WReT BT 2
g B (4) B A FATST I ATA T 31T | 3BT Bl a1 (5) YRUTRAl W el
[ESCIEEGIT

T wr2AY 3 TR IWRIeR TEfel P TR W ST

SubQuestion No : 25
Q.25 wrerier & e w2 (5) & foig watfas sug 2 gm-
Ans o 1. @&
X 2.3
3.9
X 4. 30T

Question ID : 65497836212
Status : Not Answered
Chosen Option : --
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